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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
were P ot Sl Teq foan
(a) Define a household. |
o[ e o |

(b) What is producer’s surplus?
Teoma Tge 3§ 7

(c) Mention one feature of capitalism.

“fferatrq @b CIE SeAY 4 |

(d) What do you mean by price rationing?
Price rationing 3fical f& 3= ?
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(2)

(e) Define marginal productivity of labour.

mmtqmﬁwawﬁmn

() Fill in the blank :
A SR o[ A
MRP, = MPP x :

{g) For a Giffen good, income effect is
Giffen good- S R 2’7
(i) positive
SLIEIE]
(i) negative
b RIS
(i) constant
&=
(iv) Both (i) and (i)
O (i) S (i)
(Choose the correct option)

( = Rescn AR Bferean )

(h) Why is the average cost (AC) curve
U-shaped?

TS I (AC) @ U-H1gfed =x 12

() Define opportunity cost.
S[cast IR vige faan o



(3)

() How does technological innovation affect
the supply curve?

&S TRFA @ A Ry oS
IR

2. Write short answers of the following
questions : 2x5=10

To] 2R oY bad

(a) What is meant by property rights?
i FgR I 3@ 2

(b) If B=X-Py +Y:PB,, where B represents
money income of the consumer, Py and
P, represent prices of goods X and Y
respectively, find the slope of the
equation.

IM B=X-Py+Y-B, =W, TS B T
TCSTER S, Py ¥ P, AT X AF Y
IR W, ST O Sforea |

(c) State two exceptions to the law of
demand.

iz i 101 AfSam feran |

(d) Mention two government policies to
enhance competition in the market.

GRS Al I FRQ o/ B ke NS
TCEY 41
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(4)

(e) Point out two characteristics of labour
market.

XN ISR 701 CIPTET foran o

3. Answer any four of the following questions :
5x4=20

©od HARR R @A vifkBR ©wk oy -

(a) Discuss the basic economic problems
faced by an economy. S

9 GEES I Y GRART  TIERR
HICATSAT F41 |

(b) Briefly explain the principle of

diminishing marginal rate of
substitution. What role does it play in
shaping indifference curves? 3+2=5

FRPEF AfSTER ofe T NSH 50 WM
711 s @4 oo frae R fe iR ez

A ?

(c) Distinguish between bar diagram and

histogram. S

re 57 W BIELR NP 9T 0
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(S)

(d) What is cross-elasticity of demand? How
do you infer about the nature of two
goods on the basis of cross-elasticity of
demand? 2+3=5

iR fofs Rfszrre 7 o e

%P?waﬂ“—ihmﬁﬁﬁfmwm
I(RA12

(e) Explain how an income-consumption
curve of a consumer consuming two
products is derived. S

T TR Tegels @ TSrel qE SH-
Tocolsl A v [ <1 =, I 90|

() Explain the various factors responsible
for the shift in the demand curve of an

individual consumer. 5
FERe" Soacered iRM QY FEARRS F4I
ST FRIER Y F41 |

4. Answer the following questions : 10x4=40

g 2R Te] fad

(a) Discuss the scope of Economics. State
the basic assumptions of Economics.
6+4=10

HREFR AR SIeEnAl 9901 SREER 19
SFSYRCIA fo127 |
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(6)

Or / 91

Critically discuss the marginal
productivity theory of labour. 10

R A3 TRl ©Ed FANCADARIF TN
H9RCGAT |

(b) Explain the behaviour of a profit

maximizing firm in the short-run. 10
I TS 9 e I ARSI
HIHE (TG <47 |

Or / 90

Distinguish between direct tax and
indirect tax. Show the impact of
imposition of a sales tax on market
equilibrium. 4+6=10

Ao I WP @TF I AILF o1 | IWR
SRR 8RS RF 7 IR qoR ST |

(c) Explain how price effect of change in
price of a good can be decomposed into
income effect and substitution effect.

B TR R ARTEE R R Rwea w1 R
HF AfSTE ReFe o <], I |

10
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(7))

Or / 91

Show the trade-off between work and
leisure at different levels of wage rates.
Why is the labour supply curve backward
bending? 6+4=10

fifer R e I wF A @R
ST | XA @A @ P Sreen 1979 2

(d) Show that average cost is the
combination of average fixed cost and
average variable cost. Write a note on the
slope of the average variable cost curve.
Also explain the relationship between
average cost and average variable cost

curves. 4+3+3=10
M @ M6 IJF A % ZR W IF A0S
ARTSTNA A @O | TS ARSI I
@A TR 8RS Jft Gl o1 | o1 IW e

1S RIS I QI FT=oFCors I 91 |

Or / 9«1

Discuss the rationale behind regulation

of monopoly practices. What role do
antitrust policies play in monopoly
regulation? 7+3=10
TR TP fAEgd IR LPETEO SCEAl
I SIS IR Ege  We-Read
oA & o =19 2

* * k&
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